Hagol

ARty = 2x O] e

@y:—§x+1

x+4

y:§x+2
1

0)
®y=

O y=-2x+1
@ y=2x+3



AFS y = ax-57H A (2 3)& AL 0, 09 22

@1 @ 2 ® 3 @ 4 ® 5



o
oo
.
Ry
[H
1o
o
>
Hul
sl
rlo
pouy
rlo

DN ~~—

~Joro
o
Ry

@ y=2x+3 @ y=3x+2 ® y=4x+5



@ b ®a+b @axb 30

a



L2 2x — 3y — 9 = 0 ol A x 9] gho] 3 9HE S7Fd o, y <] 4te
S7tE= oY

@ -9 @ -3 ® -2 @



Fy=-2x+6 x2 H¥7t0, -3, a,-1

0, 6, 12, bolth. a+ b2 327

o]
=

gkl



© x o ghol S7rd W y o gh2 At




8- A2FgH4e] y = ax o] T Iolc}. 4
o] Aehgto] 2 AT AP AL

© 7}-ih-oh-at
® t-th-at7t
® a7kt

@ 7h-chitet
@ o-chu7h







10.

Al A (=2, 0), (2, 2), (4, a) 7}
27

@ 1 @ 2 ® 3






12.

1 ol = = -
—g¥+2 o] I met x F, y FOo2 SR A

7t

=i |

@ 4 ® 6 @ 10 ® 12

g9






14. o5 F y7hxol B LAtk ofd A7

@ B2 Zol7k xem O] WOI7} 10em? 9 4124 2] ]
ycmol‘:]'.

@ 30092 A7 xS AFT 3000 92 A EHL uf 2o
ALEES ydoltt

® ¥k2159] dol7t xem Q1 9ol &9 dol= yemO|H

@ o] o] x A7k} G o] y A7ke] L 24 AJ3tolt,

® yLE°o] 50 v E3L4 22 L= ¢ A= A
x 1ol



()E]i]_@._/'\_y:f(x) Oﬂ/\'] y= 5)6—3?'—'_] [qL f(_l)

© -8 @ -6 ® 0 ® 6

+f(1) 9 F2?

® 10



